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2.1.

( )
2 2 ( 2 )
(QV) 2 Qv
(
(
) ( 2-1-1
Qv
Qv
Qv
2-1-1 2 ( km/h)
( /h)
0-200 200-400 | 400-600 600-800 |800-1,000
/ ( ) 0.6 -0.1 -0.4 -0.9 -1.4 o
( ) 3.8 0.7 -0.5 -2.7 -2.8 o
1 3mm/h 4.0 3.0 3.3 3.6 - o
3 7mm/h 6.4 4.4 6.7 - - o
(0 Imm/h )
7mm/h 8.7 6.7 8.9 - - o
10 20% 1.4 1.6 1.2 1.5 - o
20 30% 2.5 3.0 3.3 - - o
0 10% )
30% 3.6 4.5 6.6 - - o
( ) 2.8 2.9 3.2 3.2 2.4 >
( ) 0.4 1.6 2.6 2.3 2.6 >
3
( )
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2.2.1
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€y
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JH

Qv
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/ IC

2002 2004

ETTL i B
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- 5 : | P = — | e
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2)

1,300

2-2-1

()

Imm
17km

AMeDAS



(2)

2 4
2002 2004
1
1 2002 2004
2 1
3 ICT 2km IC 500m
JH
36
2-2-1
2-2-1(1)
KP (%) (), RorA(m) (km)
1061 25.460 2.0 3,000 6.3
1061 25.460 2.0 452 3,000 2.5
1061 44.370 0.4 0 2.6
1061 44.370 0.4 0 7.8
1061 56.840 1.3 400 0.8
1061 56.840 1.3 400 3.3
1061 75.310 1.6 800 10.8
1061 75.310 1.6 800 1.0
1062 148.157 0.3 1,000 15.5
1062 148.157 0.3 1,000 1.9
1062 178.390 2.8 1,800 0
1062 178.390 2.8 660 1,800 1.8
1420 13.924 2.1 50 4,000 1.6
1420 18.579 4.0 5,000 2.7
1430 62.390 3.0 800 3.5
1430 62.390 3.0 590 800 6.2
1440 53.113 0.5 600 2.0
1440 53.113 0.5 600 4.3
1440 60.900 3.0 273 1,000 0.9
1440 60.900 3.0 1,000 3.3
1440 119.200 0.3 2,000 3.6
1440 119.200 0.3 2,000 1.0
1440 146.074 1.1 500 8.2
1440 146.074 1.1 500 1.4
1440 169.132 0.3 500 4.0
1440 169.132 0.3 500 2.3
1440 180.249 2.0 393 700 8.6
1440 180.249 2.0 700 5.5
1612 122.640 4.0 1095 4,000 1.3
1612 122.640 4.0 4,000 7.9
1830 63.280 3.7 0 7.6
1830 63.280 3.7 1313 0 2.0
1830 77.850 4.0 800 6.6
1830 77.850 4.0 1243 800 0.5
1830 86.850 2.4 3,000 3.8
1830 86.850 2.4 1903 3,000 1.5




2-2-1(2) (2002 2004 )
KP AADT ADT ADT

25.460 8,802 7,891 10,599

44.370 7,791 6,879 9,592

56.840 6,501 5,674 8,131

75.310 5,913 5,057 7,606

148.157 8,506 7,566 10,365

178.390 8,656 7,754 10,439

13.924 5,383 5,061 6,026

62.390 4,074 3,942 4,338

53.113 9,415 8,514 11,107

60.900 10,510 9,602 12,322

119.200 6,540 5,907 7,804

146.074 5,790 5,056 7,254

169.132 6,710 6,031 8,077

180.249 6,736 6,090 8,037

122.640 8,155 7,737 8,984

63.280 9,507 7,714 13,068

77.850 7,450 5,911 10,506

86.850 5,512 4,633 7,259
2-2-1(3) / (2002 2004 )

12 12

KP
(%) (%)

25.460 1.29 1.29 1.29 1.33 10.8 6.4
44.370 1.30 1.30 1.31 1.39 12.2 6.9
56.840 1.32 1.32 1.32 1.43 13.4 7.4
75.310 1.36 1.37 1.34 1.53 19.2 10.7
148.157 1.28 1.28 1.28 1.36 14.2 9.7
178.390 1.29 1.28 1.31 1.31 8.1 4.7
13.924 1.31 1.32 1.30 1.21 14.2 7.6
62.390 1.21 1.21 1.21 1.10 8.2 6.0
53.113 1.25 1.26 1.24 1.33 16.6 8.2
60.900 1.25 1.26 1.24 1.31 16.1 8.3
119.200 1.36 1.41 1.30 1.44 24.1 11.1
146.074 1.41 1.48 1.31 1.62 30.4 14.3
169.132 1.38 1.43 1.31 1.46 9.3 5.1
180.249 1.38 1.42 1.31 1.43 10.3 6.2
122.640 1.22 1.21 1.24 1.14 22.7 10.9
63.280 1.29 1.26 1.34 1.59 21.6 10.5
77.850 1.27 1.25 1.30 1.70 9.8 6.5
86.850 1.24 1.24 1.25 1.55 9.0 4.8




2.2.3

(1)
2-1-1
) 3 Qv
4 1 )
[ 0 Imm/h] [ Imm/h ]
2 Qv
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* 15
(2)
2 85percentile
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10
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2 36
Qv
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( Omm) 0-9%
( )
( )

10%

( /
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Imm/h
Qv
/
85percentile
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Qv
2-2-1 )



Qv Ves =Vssideal  AVssavR  AV85, rain 2-2-1

Vgs 85percentile (km/h)
Vgs.ideal 0-9% 85percentile (km/h)[
AVgs HYR (km/h) [ A]
AVSS,min (km/h) [ B]
2.2.4 2 Qv
(1) Qv
2 85percentile 0-9%
85percentile 2-2-2
8Spercentile 8S5percentile 2-2-3
100 18.0
4 15.0
;% 2 1120 é
30-39%
o . 190
= 20-29% 1019% _
g 80 [(0-9%)-(30-39%)] 160 g?
Y )
[(0-9%)-(20-29%)] =
W‘O—H [(0-9%)-(10-19%)]
70 " ‘ ‘ 0.0
- 200 400 600 800 1,000 1,200
15 ( M
2-2-2 85percentile [ ]
100 18.0
: 1 15.0 g
E 90 | 1120 ~
o L 190
g —
g 80 6.0
g W
IS B, ]3¢
70 ‘ : : 0.0
200 400 600 800 1,000 1,200
15 ( M
2-2-3 / 85percentile [ 0-9%]



1)

85percentile
100km/h ) 70km/h
85percentile
2 2-2-2
1
V85ideal =1 + a2 * Flowys 2.9.2
V8s,ideal 0-10% 85percentile (km/h)
FIOW]5 15 ( /h)
a; o)
2)
Qv ( 2-2-2)
0-9%
)
2
A AVSS,HVR::B] ><1‘[VR><F]0W]5 2_2_3
AVgsHyR (km/h)
HVR (%)
Bi
3)
/ Qv ( 2-2-3) 0
3.0km/h
[
] (y; RainDummy)

RainDummy Flow) 2

10

95

(y2



B AVg5 rain = 71 % RainDummy+y, X RainDummyx Flow; 5 2-2-4

4 V85,min (km/h)
RainDummy 0 1
Y1 )2
(2) Qv
(1) 2 Qv

Ves =Vgsideal  AVssHvr  AV85rain

=la] +a, ><Flow]5J lﬂl ><HVR><Flow15J [yI X RainDummy+ yy X RainDummyx Flow15J 2-2-5
2-2-2
2-2-2
QV 2_2_4 a g 97.59
03 -0.0118
B -0.000446
V1 -3.12
Y2 -0.00190
R’ 0.982
RAME 0.461
76
100
0-9%_
8 10-19%_
20-29%_
g 5 30-39%_
£
=
2 90 |
<
]
3]
3] 10-19%
o
98 L 30-39%
- 0, N N ~ O~
10-19% N N N Iy
- N N -~ ~ =L
80 N = R S
- 200 400 600 800 1,000 1,200
15 ( M
2-2-4 (1) 2 Qv ( )
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2.3

2.3.1
Qv (
(08:00-16:00)
O
QV
QV
2.3.2
D
1)
5
1 2
2-3-1 4
739
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Qv
Qv

Qv

Qv

JH

1998

2001

4

2.1.)



2-3-1

IC AADT( /)
(km/h) b (%)
— 251.7 78.5 120.5 69.7 21.8
— 679.5 33.4 85.5 29.7 20.6
— 366.8 40.1 116.8 37.5 15.7
— 543.1 23.5 74.2 15.3 19.5
a. - ( 14 ) 13
b. IC— Ic( ) JCT— Ic( ) IC— Ic( ) JCT— JCT(
c.
2) AMeDAS
AMeDAS
AMeDAS 1,300
10
( )
100m
10km
6.0km 3.1km
10
[mm/h] AMeDAS 10
0.5mm [mm] 3mm/h
5
[mm]
(2)
Qv
2
739
Qv STEP
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1 2 )
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Qv
Qv
2-3-3 85percentile Qv
8S5percentile
2-3-1 30
8S5percentile
100km/h 80km/h 2-3-1
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2-3-3
( =0mm) QV 2-3-1
Qv
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120
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2-3-4

2-3-4 ( 3 2 )
5 40-59 /5 / Omm
Ilmm 3.9km/h 1mm 2mm 1.7km/h 0.8km/h
0.3km/h Imm
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2.3.4

- 1
85percentile
- 2 Qv

2

85percentile

€y

Omm)

)

Qv

0-10%

Qv
Qv

Qv

Qv

Qv
Qv
QV
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30
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V85 ideal = 0 t a1 Flows +ay F lows? 2-3-1

Vss idear = 0-10% 85percentile
Flows =5 (/5 1 )

Ay, 0,0 =

2)
2.3.2.(1)
2-3-5

2-3-2

A AVgs pgyr = (ﬁoHVR)FIOWSﬁl 2-3-2

AVgs HYR = (km/h)
HVR = (%)

Flows =5 (/5 1 )

[%a/ﬂ =

50-60%

km/h

20-30%

10-20%

85%

2-3-5
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3)

2.3.2.(2)
2-3-6
Omm Imm
2-3-3
B A4Vgs ain = roRain” +(yyRain) Flows 2-3-3

AV3s yain = (km/h)

Rain = (mm)

Yoo V1572 =

2-3-3 1
0
BoRAIN: =a b*
g
/(// -‘\‘\ 0
N5mm
=1lmm
2-3-6
4
Qv

2-3-4 2-3-1 2-3-2 2-3-3 2-3-5
Ves =Vssideal  AVesvR  AV85,rain 2-3-4
1}85 = [ao + a1 Flows +a2Flow52] [(ﬂ()HVR)FlOWS'Bl ] [yORainyl +(yzRain)Flow5] 2-3-5

23



2-3-5 [ ] 2-3-6
1}85 =0 +(x2Flow52 + (0‘1 +y2Rain)Flow5 + (ﬂOHVR)Flow5/’)1 +yoRain’! 2-3-6
)
2-3-6 85percentile 2
100km/h Qv
2-3-7 2-3-8 2-3-7
Qv 2-3-8
20-30% Qv
2 QV (R*) 0.581
Qv
Qv
0
Qv
Imm
( 2-3-9)
Qv 2
1401
0-10%
QV
1204
: I
£ 100 e T o
Al o 0-10%
- 80 N ® 10-20%
8 o | O 20-30%
60% | 30-40%
60 Qv A 40-50%
A 50-60%
v 60%
40 T T T T T T 1
0 20 40 60 80 100 120 140
/5 /
2-3-7 Qv
( =0mm )
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km/h

85%

1404

1204
<
E 1004
o O 0 mm
- 80 ¢] @ 1mm
'SD.B o 2mm
B 3 mm
60 6mm A 4 mm
Qv A 5 mm
v 6 mm
40 T T T T T T 1
0 20 40 60 80 100 120 140
/5 /
2-3-8 QV
( 20-30% )
@ (V)
1401 Omm 1401 20-30%
1304
120 0-10%
1104
1004
90 60%
80 T T T T 1
0 20 40 60 80 100
/5 /
2-3-9
Qv
2-3-2 3 80km/h
0
2-3-6 a, ( 2-3-1) 2
20
QV 2
2-3-1 2-3-3
B
2-3-2
2-3-2 1-19 /5
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100km/h

a,
B
2.3.2.
Qv
2 100km/h
5 100 /
40% 4.6km/h 8.2km/h
2-3-2
Vs = ag + agFLOW? + (ay +yy RAIN)FLOW + (8o HVR)FLOW A +yoraIN"  ( 2-3-6)
(1 ) 2
3 3 2 3
80km/h 100km/h 100km/h 100km/h 80km/h 100km/h 100km/h
29 101.8 106.5 98.1 118.6 118.4 122.6 128.9
a, -0.0005 -0.0008 -0.0006 0 0 0 0
o, -0.068 -0.063 -0.075 -0.125 -0.132 -0.122 -0.106
7> -0.005 -0.005 -0.012 -0.008 0 -0.005 -0.011
ﬂO -0.053 -0.114 -0.065 -0.152 -0.043 -0.077 -0.022
B 0 0 0 0 0.306 0.212 0.555
70 -2.842 -3.540 -2.818 -3.844 -4.122 -4.032 -5.130
¥4 0.362 0.244 0.167 0.221 0.438 0.271 0.327
R? 0.480 0.581 0.546 0.695 0.370 0.640 0.642
6,772 12,606 5,161 5,894 6,414 14,730 5,286
2.3.5
(1)
2)3)
2.3.5. Qv
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(2)
2-3-10
23

(3)

%/100

%/100

%/100

%/100
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Kolmogorov-Smirnov

4)
2 3 ) (80 100km/h)
( )
D
2-3-7 2-3-10
LU = el@rah)F 2-3-7
LU =(ay +a,P, e ™" 2-3-8
LU = ag(1 — @ h)r) 2-3-9
LU =(a, +a,P,)F 2-3-10
LU (%/100)
F (/5 )
P, (%/100)
Qo> a5y, 03 ( ay>0  (ag+aP)>0  (ay+asP)<0)
2 1 2-3-7
1
3 2-3-10
2 1
2-3-8
2-3-9 1
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2)

2-3-3
2-3-12 2-3-13
20-30%
40-50%
2-3-10 2-3-11
4)5)
1
2

3 2

4)5)

80km/h 100km/h
100km/h
3
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%/100
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—

%/100

%/100
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2-3-3

N a a az R?
2 80 2-3-7 - - -4.147E-03  -4.787E-03  0.975 3,335
100 2-3-7 - - -4.249E-03  -4.011E-03  0.981 5,648
80 2-3-7 - - -5.070E-03  -2.787E-03  0.984 1,731
100 2-3-7 - - -4.875E-03  -2.552E-03  0.988 3,406
3 80 2-3-8  6.225E-01 1.754E-01  -1.286E-03 -1.645E-03 0.872 760
2-3-9  5.309E-01 - -4.834E-03 -1.273E-03  0.905 760
100 2-3-8  6.676E-01 1.368E-01  -1.558E-03 -1.187E-03  0.882 3,385
2-3-9  6.764E-01 - -3.181E-03  -1.438E-03  0.864 3,385
80 2-3-8  5.240E-01 4.957E-01 -8.767E-04 -4.023E-03  0.805 387
2-3-9  4.991E-01 - -5.142E-03  -1.840E-03 0.791 387
100 2-3-8  6.082E-01 3.025E-01  -1.328E-03 -2.508E-03 0.901 1,618
2-3-9  6.839E-01 - -2.893E-03 -1.955E-03 0.817 1,618
2 80 2-3-7 - - -1.990E-03  -2.528E-03  0.952 3,337
100 2-3-7 - - -1.687E-03  -2.781E-03  0.978 5,648
80 2-3-7 - - -2.745E-03 -1.910E-03  0.975 1,727
100 2-3-7 - - -2.690E-03  -1.636E-03  0.991 3,406
3 80 2-3-8  6.683E-01 1.077E-01  -6.464E-04 -4.224E-03 0.634 760
2-3-10 4.401E-04  2.435E-04 - - 0.805 760
100 2-3-8  7.892E-01 0 -1.401E-03 -3.774E-03  0.836 3,385
2-3-10 3.996E-04  2.337E-04 - - 0.935 3,385
80 2-3-8 5.701E-01 3.381E-01 0 -6.530E-03  0.668 387
2-3-10 4.777E-04  3.512E-04 - - 0.932 387
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